(REEZEEMA 7/17 B 2 LT

H3OEE 8 iy

TE
BAGE B @ (& TREE SC T

8.1 | 7K

(FEnELARTOVYIMRE
R ES s
oszILEE23E &
OSH:/HIE (12) 35

(R 2K B A
(F&) BNTHE —x
3|2 |MEHATEA 30%x5 x X i
OSRSREH (#2) 248 *
OSHEF1234F

12:20

ol
m|m|H

~
>

OSiEI 234

(5F/iT) T AHESFRI
(F#&) T 2—2 BBHE13:30 x

~

©
X

OSE[E (%, B)234F

oA

RERIVI—ILVERE

=

X|m | m | H [ B

AT A

=

OS=1E

]
EEIREIELE

(FRDFBERTELRE
|osizIL34E PEBIERE
OSEIIR(E. B)2& 8:30~11:00
OSERE23%

11:00
MoFE

3

=
=
=
X

(PR 2BHIEHRE
sl | FERIBRRHE FERTRE

OS:ZILF (&) 235 8:30~11:00
OSEILK (R, &B)3HE

X

(D FBERERE FEHREE
OSHIL(E. E) 8:30~11:00

11:00
MoFE

3

=
X

23| K

(AN 3FE BB
(F#&)BAHHE

&
4 X X X o :
24 3430%5 T 1220

25|t

PTAZHER

26|14 (7:00~8:30)

LCE o
1-26FERRETAL
SEHCBMT RN
BET&H

—%

27|18 T

45%X 6

(]
x
X

15:30

28| X | EBRFHR 45x 6 *x| & 18:00 O

29|k | EREEMEER 45x 6 x| x 16:30

K| EREFRFER 50X 6 x| & 18:00 (@)

(e |EEER 45% 6 x| & 18:00

RDADTETE (F) sc: AD— LN 5 — R H
o1 + MEHERREBMFKIKAE 16 B

2 B BRFEKFKKRE 17 A HEOR

3 B B#ENTR 18 K

4 X PTAEEZE£19:00~ 19 K BESE

5 K FITHRE (FLUBLE) 20 K SRESREEE

6 K 21 & PR EEE

1% 22 £

8 T EER(FUNE)S: 458 MABIKRE+FES 23 B #}onR

9 A BEEFHA 24 A

10 A EB=FikEREAREH (9/8) 25 K

1R (FULE) BEEHHE SHHREEM~21 26 K PEHASER

12 K BAHHE 27 K BME BRAEHE

13 K 28 & ERREMEER

14 & 29 £ FIGERRE

15 £ 30 B PXERRE UOWREBLEE




